Sliding Puzzle (/problems/sliding-puzzle/)
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Language: cpp Edit Code

1 class Solution {

2 public:

3 int slidingPuzzle(vector<vector<int>>& board) {
4 int count = ©;

5 queue<vector<vector<int>>> q;

6 map<vector<vector<int>>, bool> visited;

7 g.push(board);

8 while(!qg.empty()) {

9 vector<vector<vector<int>>> boards;

10 while (!q.empty()) {

11 boards.push_back(q.front());

12 q.pop();

13

14 for (int i = @; i < boards.size(); i++) {

15 vector<vector<int>> b(boards[i]);

16 if (goal(b)) {

17 return count;

18 }

19 visited[b] = true;

20 int zero_i = 0, zero_j = 0;

21 bool f = false;

22 for (zero_i = ©; zero_i < 2; zero_i++) {
23 for (zero_j = 0; zero_j < 3; zero_j++) {
24 if (b[zero_i][zero_j] == @) {

25 f = true;

26 break;

27 }

28 }

29 if (f) {

30 break;

31 }

32 }

33 if (zero_i == 0) {

34 vector<vector<int>> tmp(b);

35 mSwap(tmp, zero_i, zero_j, zero_i + 1, zero_j);
36 if (lvisited[tmp])

37 g.push(tmp);

38 } else {

39 vector<vector<int>> tmp(b);

40 mSwap(tmp, zero_i, zero_j, zero_ i - 1, zero_j);
41 if (lvisited[tmp])

42 q.push(tmp);
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}

if (zero_j == 0) {

vector<vector<int>> tmp(b);
mSwap (tmp, zero_i, zero_j, zero_i,
if (lvisited[tmp])

q.push(tmp);

} else if (zero_j == 1) {

vector<vector<int>> tmp(b);
mSwap(tmp, zero_i, zero_j, zero_i,
if (lvisited[tmp])

q.push(tmp);
mSwap(tmp, zero_i, zero_j, zero_i,
mSwap(tmp, zero_i, zero_j, zero_i,
if (!visited[tmp])

q.push(tmp);

} else {

}
}

count++;

}

return -1;

}

void mSwap(vector<vector<int>> &arr, int rowl, int coll, int row2, int col2) {

vector<vector<int>> tmp(b);
mSwap (tmp, zero_i, zero_j, zero_i,
if (lvisited[tmp])

q.push(tmp);

int tmp = arr[rowl][coll];
arr[rowl][coll] = arr[row2][col2];

arr[row2][col2]

}

tmp;

bool goal(vector<vector<int>> &board) {

return board[0][0] == 1 && board[@][1] == 2 && board[0][2]
board[1][0] == 4 && board[1][1] == 5 && board[1][2] ==

}

void printarr(vector<vector<int>> &arr) {
for (int 1 = 0; i < 2; i++) {
for (int j = 0; j < 3; j++) {
printf("%d ", arr[i][j]);

}

printf("\n");

}s
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